5 ¥ 5 0] ¥E B fPk B8 a5 B B a5 ¥

A S ,
_REE F H H ITIHES
¥ X|CXH1I-2XM|5E # ® FE| 110 Veont. | T & EK Hz
B F R OB R E OB B K 5 A cont. | By fE & 'R % A
# k) JEC-174 B @ VIS0 w w8
X2: Q %E ﬁ g E
ABHEH- -ZBER B °C__BE %
X B B B =R 7] A = AR
B E AR B - S - RREIERUBRE
g R | BRRE A 1 0MQLLE GRSE
i | E X B ERE—3IE - #158R9: 2. 0kV 60Hz 14
% X R (&) TiiEBOoRBREERKT 5,
1. ABHFHER
Bk : ERED0O~1 00 0% (VABEHK)
BE : EED0~1 2 0% (1ABK) TrEfEDE. (BES »7100%)
2. BhfEE ChlERAE IR BPEICE0E)
% * - o s 7 b Lag v Lag ° Lag °
10A 100% \' \Y
100% _ \' _
M 5A
50% — \' —_—
2. 5A 10% \Y \'
® * B s s M| fag 50° | Lag 90° | Lag 150°
20A 50% — \'% —_—
100% —_— \' _
X1 10A 50% \' \'
10% _ \' _—
5A 509% _ \Y —_
20A 50% —_— \Y _
100% —_— \Y S
X, 10A 50% \'% v
10% _— v -
5A 50% _— A\ _
& 2 | fF K
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3. BYfEisRA

X2 [ HIERAE : 80%IC T >
MER [HIEEHE . m s 2UIF] 2% [ ViERHE msPT ]

: 50%ICT ms T

il | mi | B | weEs | Sheemnd | | e | mw | iBe | SRR ghressen

80% ms 80% ms
Lag °]10A|100%| 50% ms Lagd0 4 10A|100%| 50% ms
0% ms 0% ms

X% [ BRI : 90%1cT  ms BIT ]
:50%i2C msBF

frdE | B | 3P | BEER | BHERSRA

80% ms
Lagd0 f 10A|100%]| 50% ms
0% ms

4. 1B MRS MERIR3S5msET, XE#%:30mslT)

M E#% (2 7100%, T :10A — 5A fiufH:Lag ° — 0°, Z = 50% = V = 110V)
XaBE (997 50%, B :54 — 10A, iifH:Lag0°> — 0°, V =110V — Z = 120% )
X B (597 50%, B :50 — 10A, fifH:Lag 0 ° — 0°, V =110V = Z = 120% )

18w B R m s

5. A€Y B CHERHE : A8 H5 0m s LLE)
(297 100%, filfH Lag °L, B : 0 >~ THBD400 %, BE:TK — 0)

X&) — B ms

6. U—-F/HER (X1 X.. MER)

29 750%, B TERO200%, BE :EH - Z=107. 5%, (i BERE
TEELRRWC &,

7. AERER
B|E2V, Tifi50A, fItH Lag °, Lag ° ICTEHERE &,

¥ ¥ O E B ¥ (BhYEfE, GriEsrE)

(1) BhEE

MEF: 1=10ADES, SWMEOLE%BLN, 1= 5ADES, 1=10 A LE(LSE5 %A

XEHR: 1=10ADEE, AFMEO+5%LIA, 1=20A0DEE, 1=10AiLENS+5 %N
I=5ADHE, 1=10AHLESE %A

(2) AriEsstE
ME#:1=10A, Tapl00, 0= ° ° TAPMEDE 1 0 %A
XEHR:[=10A, Tap 50, 6=30 ° 150 ° TLFMEDE15%LIA
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